SOUTH EAST CENTRAL RAILWAY

WRITTEN EXAMINATION TO ADJUGE SUITABILITY FOR THE APPOINTMENT ON
COMPASSIONATE GROUND IN GROUP [PAPER-I]

3T YR IR 9 41 & fgfad o forg fafad usien &1 Uy o [ 9uR-1]
Time / 9T : 03 Hours / ©c Date / f&1e : 10/05/2023 Total Marks / $d 3{d® — 100

Instructions / GFI%‘«’I :

1. This question paper contains 100 objective type questions. All the questions are compulsory
in nature. All questions carry 01 mark.
U UY-TF | 100 aXgFE Uy & | 9uft vyt sifard § 1wt s o1 ST w1 B

2. The question paper has been divided into two parts i.e. Part- A (to be answered in English
language only) and Part- B (to be answered in Hindi or English).
TS U3 & YT 3rufd YT (g SOl HIeT § SiaTe g S gear g) 8 yiT- & (R
7 3Sht § SaTe faar o gerar §) § favnfora fear mang |

3. Use of calculator, mobile phones and any other electronic gadget is strictly prohibited in the
examination hall.
HaAP ey, Aiasd B 3R ot Hf 3T gaaei<a Tioic BT SUUNT TRIET 8id &
BIRERC A

4. Candidate will attract disqualification if found using any foul means.
SHIGAR g HIs HUCYY! ATeH HT ITART HIAT U T Al 98 3RATT 38RIY o+ &1
ElENUIS

Part-A (English Language Test, to be answered in English only)

1. What colour is the sky?
a. Red

b. Blue

c. Green

d.frog

2. Which animal has stripes?
a. Elephant
b. Tiger
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C.
d.
3. What do you use to brush your teeth?
a.
b.
C.

d.

4. \Which season comes after winter?

C.

duck

parrot

Comb
Toothbrush
Hairbrush

computer

. Spring
. Summer
. Autumn

. machine

. What do you wear on your feet?
. Hat

. Shoes

. Belt

. mobile

. Which fruit is red and round?
. Banana

. Apple

. rice

. computer

. What do you use to write with?
. Pencil

. Eraser

Crayon
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d. bell

8. Which animal says ""meow"?
a. Dog
b. Cat
c. Cow

d. parrot

9. Which direction is the sun in the morning?
a. West

b. East

c. South

d. north west

10. What do you use to cut paper?

a. Scissors

b. Ruler

c. Glue

d. pen

11. What do you use to drink water?
a. Spoon

b. Cup

c. Fork

d. pen

12. Which shape has four sides of equal length?
a. Circle

b. Square

c. Triangle

d. rectangle
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13. What is the name of the planet we live on?
a. Jupiter

b. Earth

c. Venus

d. mercury

14. Which animal has a long neck?
a. Lion

b. Hippopotamus

c. Giraffe

d. parrot

15. What do you use to carry books?
a. Bag

b. Umbrella

c. Hat

d. pen

16. Which color is a stop sign?

a. Red

b. Yellow

c. Green

d. violet

17. Which animal lives in the water?
a. Cow

b. Fish

c. parrot

d. bull

18. What do you use to wash your hands?
a. Soap

b. Toothbrush
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c. Sponge
d. pen
19. Which shape has three sides?
a. Circle
b. Square
c. Triangle
d. rectangle
20. What do you use to tell time?
a. Calculator
b. Clock
c. Book
d.pen
Part-B (to be answered in Hindi or English)

21. U A8 12 fafi/aue &t 3fvrd Tfd IR Wd Ugaq & o 20 fie aar g1 afe 39 15 fime
ﬁFp’_Q'IUEVEHT% o ofrd TIfd..... BT TIfgTl A boy takes 20 minutes to reach the school at an

average speed of 12 km/h. If he has to reach the school in 15 minutes, then the average speed should

(A) 14 Km/hr fediauer - (B) 15 Km/hr fdi/eoer
(C) 16 Km/hr fobfi/@oer (D) 18 Km/hr fobdl/arueT

22. H%Waﬁaﬁ Yol él‘ﬁl WEPIGWQ, ar W— If the side of a square is doubled, then the

area will be---

(A) Doubles /G GIAT S (B) 4 times/ 4 AT 1T §
(C) 8times /8TATBIATE (D) 16 times /16 TAT 81T §

23. 220 BT 15%=? 15% of 220 is = ?
(a) 33 (b) 22 (c) 24 (d) 26

24. 450 &l H ¥ 30% FI%@'Q%I fhd- Od 3P %? 30% of 450 apples are rotten. How many apples
are fine?

(a) 135 (b) 140 (c) 125 (d) 315

Page 5 of 17



25. 8888 + 888 + 88 + 8 = ?
(a) 9784 (b) 9792 (c) 9072 (d) None of these / 378 T &5 Tal

26. 100 x 10 — 100 + 2000 / 100 fpTp SRTSR BIT?
(a) 20 (b) 920 (c) 980 (d) 1000

27. U TG = Ut TR BT 1/4 HIT (U1 Tt BT e, v o= T &1 faam iR 1/5 gH R

fea deddR, 39 N faaT YT ¢ f&am A man gave 1/4th of his property to his daughter, 1/2
to his sons and 1/5th to charity. Accordingly, how much did he give in total?

(@) 1/20 (b) 19/20  (c) 1/10 (d) 9/10

28. U fAeNed H 85 TSP d 35 TS bl o TTdS-1es UIIEH & | TSI bl HILH UT 3fch 40%
TSP} T AT UT 3ih 60% T, T fIeTerd T 3Td UTwd 3ih Ufa=rd # Id1ST1 In a school, 85
boys and 35 girls took a public examination. If the mean marks obtained for boys was 40% and that
of girls was 60%, then what is the average marks obtained in the school in percentage.

(2)50.60  (b)54.16 (c)45.83  (d)48.53

29. Pls Y= TR STl TR 20 T H G BT et & | fba o & a8 IR T 81f2 A sum of

money doubles itself in 20 years at simple interest. In how many years will it be four times?

() 40 (b) 50 (c) 60 (d) 80

30. SRS B! AT gfk Bt aR 5% g | TS fhft IER 1 g SIHRaaT 140000 &, df i aef

& T1G IY UEX P SGBHT TTHI foa! 81 SITET? The rate of annual growth of population is
5%. If the present population of a city is 140000, then after three years the population of that city
will be approximately?

(a) 164000  (b) 153000 () 162000  (d) 157000

31. 108 Ht T T YT 20 AHUS H foolelt & Th T I UR B Sldl & | YS! &bl TTel o

%? A 108 meter long train crosses an electric pole in 20 seconds. What is the speed of the train?
(a) 36.5 Km/hr fbHl/&I0eT  (b) 32.4 Km/hr fasHit/aoer
(c) 60 Km/hr fHl/GUeT  (d) 28.6 Km/hr fopdt/aver
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32. U O foIh! H1Aa 3. 750 AT 4% 1 R 99 15 | IUHT [deha Jod &1 UT? A table costing

Rs. 750 was sold at 4% loss. What was his selling price?

@F.746 (0)T.730 (c)T.780  (d)T. 720

33. TP P& H 15 TSP ! 30d 31 11 T4 g1 TG 9 98 & 5 TSP P&l H 3R iferd g1 o,
IR ERRECA RN Y BRI The average age of 15 boys in a class is 11 years. If 5 more boys of 9
years old join the class, then their average age now will be-

(@) 20 years ¥ (b) 10 years ¥ (c) 10.5 years ¥ (d) 10.33 years ¥

34. Tfe 18 IXIS T HT Yoo 15 a3l & fashd Ted & SRISR g, <1 Ufa=Id A1y FHa1ferg | 1f the

cost price of 18 articles is equal to the selling price of 15 articles, find the percentage profit.

(@) 20 (b)162/3 () 25 (d) 15

35. I 3O HAR B HWR I 149 RIF W g 9T T 187 RA R §, A HaR W $d fba- 8

%? Ram is 14th from the top and 18th from the bottom in his row, then how many students are there
in the row?

() 31 (b) 30 (c) 32 (d) 29

36. (m? — 4m) & TUFRUS §- The factors of (3 — 4m) are-
(@ m(m+2) (m +2) (b) m(m2/ 4)
(€) m(m-2) (m +2) (d) m(m +2) (m-2)

37. 8 TN &1 3iGd YR 1.5 fa1 5 STl § 51d Uh 1 G2y 65 a1 YR aTal safdd & ®IF W

GHGHHT%I IO Safad & YR ddIgUI The average weight of 8 men is increased by 1.5 kg when a
new male replaces the man weighing 65 kg. What is the weight of the new person.

(a) 70 Kg foum (b) 74 Kg fooamm (c) 76 Kg foum (d) 77 Kg fooam

38. 20 T x10 A P fra-t Sef T 25 HY x16 H T BRI BRI FRT ST Tebll 82 How many

bricks of 20 cm x 10 cm can be used to make a floor of 25 m x 16 m?

(a) 30000  (b)20000  (c) 25000  (d) 40000
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39. T YIS ST TaTS SHHRT: 180 T AT 220 T g, Th-galX &1 fauRid = & HHT: 40
fapfl/aueT wd 50 forel/aver & A q SS I &1 Th-gHR B UR B H fbd=1 T5 @ Two

trains whose lengths are 180 m and 220 m respectively are running in opposite direction to each
other with velocities of 40 km/h and 50 km/h respectively. How long will it take to cross each other?

(a) 16 Seconds JHUS (b) 17 Seconds JHUS
(c) 18 Seconds JHUS (d) 22 Seconds JHUS

40. foreht TRted & 3896 URTemdT SmAa I & Bdt §T, 299 TRTemff ot & T 109 gtemif gt
ﬁWE’Q, i a1 fawal & fora= iR astemedf ara 81717 In an examination 38% of the

candidates failed in General Knowledge, 29% of the candidates failed in Mathematics and 10% of
the candidates failed in both, then what percentage of the candidates will pass in both the subjects?

@45%  (0)43%  (©)50%  (d)40%

41. 0.000033/0.11 T HIT % ? The value of 0.0000033/0.11 is
(a) 0.003 (b) 0.03 (c) 0.0003 (d)0.3

42. F9 & Q S-3Y 31HTST TAT 82 Which of the following is a prime number?
(@33 (b) 81 (c) 93 (d) 97

43. UYH T 9 Tar3it &7 3d &1 RT? What will be the average of the first ten even
numbers?

(@) 10 (b) 12.5 (©) 9 (d) 11

44. 9 Q BT 31 <SG §, I 1 312 U 8, T 7 31 § " 3R K T 31 8 “HIT A Y 30

K2Q3J6T5="?If Q means 'to add’, J means 'multiply’, T means 'subtract’ and K means 'divide
by then30K2Q3J6T5="?

(A): 29 (B): 28 (C): 35 (D): 40

45, T + BT 31 x, — BT 3 + x BT 34 B - 3R + 1 37 -+, A Fgferfaa w1 A= gme 17 +

means X, —means +, X means — and + means +, then what will be the value of the following?
20+4x6-5+7=?
(A) 28 (B) 32 (C) 34 (D) 36
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46. FAgfaRad B ¥ S 3UTST TRSAT 82 Which of the following is a prime number?

(A) 8 (B) 9 ©) 11 (D) 15

47.71& 6=90° AT sind- cosd = If 6 =90° then sin6- cos® =

(A) 0 B) 1 (©) -1 (D) %

48.5+3\2 &

(A) 9RAT F&AT Rational Number (B) 319R&AT AT Irrational Number
(C) quiieh Integer (D) 373 & @IS 76T None of the Above

49. A o TUT B AU TgUG X+ x -2 Yedeh g Y, 1/ o+ 1/ B T HeT g
If o and P are zeroes of the quadratic polynomial x 2 + X — 2, then the value of 1/ a + 1/ p will be:

(A) ¥ (B)—1/2 (C)1 (D) 2

50. & x=a,y=bHHEIOT x—y=2TAT x+y=4F g & a a3R b& AT HAT: &

If x =a,y = b are solutions of the equations x —y = 2 and x + y = 4, then the values of a and b are
respectively:

(A) 3,5 (B) 3, 6 ) 3,1 (D)-1,-3

51. 39 H@ell I W 36, 34, 30, 28, 24, ... 3N e A HEAT T=AT =AMT? Look at this
series: 36, 34, 30, 28, 24, ... Which number should come next?

(A) 20 (B) 22 (C) 23 (D) 26

52. 38 YW &I W 22,21, 23, 22, 24, 23, ... 3T @il AT FEAT 3T A1TET? Look at this
series: 22, 21, 23, 22, 24, 23, ... Which number should come next?

(A) 22 (B) 24 (C) 25 (D) 26

Ss.m,mﬁeraﬁrag%ﬁwgaﬁrmﬁl 37ofeT STETENeT T G g 3R fasoy &1 3rehenm
ArS| AT AR ST & o o1 FFEE-Y g2 Simais Jagdish's daughter-in-law, Vishnu's sister-
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in-law. Arjun is the son of Jagdish and the only brother of Vishnu. What is the relation between Sima
and Arjun?

(A) T g+ Cousine (B) s¥1¢ Sister-in-law

(C) UeaiT Wife (D) dgeT Sister

54. If¢ KICK & KCIK for@r Srar & MAAN &I NAAM for@ar Srar § ar GOOD &t &am

for@r sreer 2 If KICK is coded as KCIK, MAAN is coded as NAAM then what will GOOD
be written as?
(A) ODOG (B) DOGO (C) DOOF (D) DOOG

55. ¢ I ol ¥ o & ggar UFAR ar, ar RET SiF-ar & g9 2 If two days before

yesterday was Sunday, what day will it be the day after tomorrow?

(A). IR Wednesday (B). T*aRX Thursday

(C). YHAR Friday (D). 2IfaR Saturday

56.?1%3?3?1?@3{1?mmauﬁmm@aémagaaﬁﬁ%ﬁfr%m%m

& ? If I am standing with my right hand towards the north, then tell me in which direction is my
back?

(A). GT&IUT - qd South-East (B). Id East

(C). IfasT West (D). 3a3-9Ta# North West

57. Hellol Hooll ¥ &7 § Wod Hih @ BT gl Hooll Higel § §57 § Woad Aleh H BIET

g1 dr & §3T diT & ? Manoj is older than Munna but younger than Cheeku. Munna is older
than Sohil but younger than Cheeku. So who is the biggest?

(A). HATST Manoj (B). H==T Munna (C). & Cheeku (D). Eifger Sohil

58. TS T ©¢ T ¥ 72 €S A fahctsl TR G HIN | How many revolutions will the hour

hand of a clock complete in 72 hours?

(A) 4 (B) 5 (€)6 (D)7
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59. 3T Wl & YT I oT@aI3> I ¢ dl I & Y Hefeli@d d & fhad g2

If Uttar Pradesh is related to Lucknow, then Rajasthan is related to which of the following?

(A) ST Jaipur (B) sergrdre Allahabad

(C) TR Raipur (D) 3¢ 92r Andhra Pradesh
60. T : S@eT q&ds @ ? Image : View :: Book : ?
(A) @IS Buy (B) GEARICI Library

(C) 9e=T Reading (D) for@=T Writing

61. “TTEATHYUr B @iof [ @ T2 Who discovered ‘gravity'?
(A) =ge-T Newton (B) SISth Dolphin
(C) @IS & Lord Colnel (D) &8 % Lord Kranz

62. I T IoT YR & T tlﬁf“—ﬂ"'[ﬂ?@-lﬂ%’7 Which state is located on the easternmost part of
India?

(A) 3BT USRI Arunachal Pradesh (B) ISR Rajsthan
(C) 3R UCT Uttar Pradesh (D) USTTS Punjab

63. QT@H &1 3fepTeH! f&d B 1 National Defense Academy is located at.
(A)36€I§:I Dehradun (B) UcHT Patna
(C) FIPIER Nicobar (D) faeh Delhi

64. TfAYT P URST AT P FTRAT B9 Y? Who was the chairman of the drafting committee of
the constitution?

(A) BT. HIH I(d 3FESH Dr. B. R. Ambedkar  (B) AT el Mahatma Gandhi

(C) HRalR ged Sardar Patel (D) vidlgX dlcd %Qﬁ Jawahar Lal Nehru
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65. :ﬂELGﬁT TR H DI 9T faeTfi 9T SiTdt 82 Which vitamin is found in lemon and orange?
(A) faerf®= vitamin ‘B’ (B) faerf®= vitamin <C’
() faer®= vitamin ‘B’ (D) faeTf&= vitamin <A’

66. e—quwr{m (%aﬁww%mmﬁmaﬁ%‘? Arjuna Awards are given for

excellence in which field?

(A) =91 Cinema (B) T1fe Literature
© @E—W Sports (D) fasT Science

67. E[%E?[WQ?E HIA quﬁ?wb R %‘_I Earth's only natural satellite is__.
(A) d<HI Moon (B) R[sh Venus
(C) T Saturn (D) T Mars

68. e faTT e T ST 82 When is Teacher's Day celebrated?
(A) 5 RidaR September (B) 6 Td¥R November
(©) 10 SR January (D) 15 3T August

69. HRd ol QT@H gy 87 The national flower of India is?
(A) T Jasmine (B) [T Rose
(C) ®HdT Lotus (D) E:I'f[ | ?ﬁ's‘ f} 81 None of above

70. YRS et g @ T Twaifea %? Dhanraj Pillay is related to which sport?
(A) BId! Hockey (B) fohde Cricket
(C) B cdIdl Football (D) HESS! Kabbadi

71. maﬁﬁmrﬁ%ﬁmwg&n YT? In which year Mahatma Gandhi was born?

(A) 1870 (B) 1869
(C) 1871 (D) 1872
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72, W@Pﬁq 219 {19 BT T % The scale to measure atmospheric pressure is-
(A) iecHIeR Voltameter (B) fefiHiex Millimetre
(C) SRIHteR Barometer (D) SHTHIC Decametre

73. TIH B! (Fgfad P19 BT 82 Who appoints the Chief Minister?
(A) TYTTHAT Prime Minister (B) J1FUfd President
(C) GBI IR Chief Justice (D) ISTUTA Governor

74, ﬂﬁfﬂ? CIRISEIGI % The capital of Manipur is-

(A) ITBTA Imphal (B) BITgHT Kohima
(©) SR Itanagar (D) R Hyderabad

75. W] Y& P d g3 UT? When did the battle of Plassey take place?
(A) 1757 (B) 1756
(C) 1758 (D) 1759

76. ?Efﬁ BEREEED 18 8- The planet closest to the Sun is-
(A) I Saturn (B) I® Jupiter
(C) R[sh Venus (D) 94 Mercury

77. 9 A 319 7Y ST | ? Which of the following is an input unit?
(A) AT Mouse (B) BI-aS Keyboard
(C) TH-R Scanner (D) 378 T Tt All Above

78.1 I?bm\ldlsc (KB) fopaH digc & TR Eﬁ?f% ? 1 Kilobyte (KB) is equal to how many bytes?
(A) 1024 STST Byte (B) 1024 AITETSC Megabyte
(C) 1024 e Gigabyte (D) E:I'E[ @fﬁ'sf 98I None of above

Page 13 of 17



79. W fadpTc BT aRAfdd AT T UT 2 What was the real name of Swami Vivekananda?
(A) faa®T< Vivekanand (B) FSTY &I Narendranath Dutt
(C) <dcd Devdutt (D) I &1 Krishna Dutt

80. YRd T Td BT 3R fobdd I+ & §311? In which year did the train start in India?
(A)1953  (B)1853  (C)1895 (D) 1858

81. YRd U &y dall §\P[ T9 HRA aT ¥ B I g2 Which is the longest distance train in India?
(A) IS TRIUY Rajdhani Express (B) XciTea! TRINY Shatabdi Express
(C) [ade TFUT Vivek Express (D) THSIAT THIO Samjhauta Express

82. HRTT X BT W T 82 What is the slogan of Indian Railways?
(A) 1Y 1 Sfia T Life line of the nation

(B) ¥ Pl Eb"liﬁTst Hgdh Action Road of the Nation

© TFE@HT &1 WS Road of National Service

(D) 3] Other

83. YRd & gdq™ Tl'ngIﬁf D %? Who is current President of India?
(A) Ram Nath Kovind I/¥ A4 $ifdg (B) Droupadi Murmu ST T8
(C) Narendra Modi -R=5 Hict (D) Pratibha Patil IfaHT ¢difRtig wifead

84. W%Wﬁﬁﬁﬁ?%’? Who is India's current Finance Minister ?

(A) Smriti Irani F{ﬁfm (B) Droupadi Murmu gd H'Ji
(C) Nirmala Sitharaman fHaT HTdRA (D) Pratibha Patil UfaHT ¢atiRig urfed

85. YRa o Pd foam I 82 How many states are there in India ?
(A) 28 (B) 29 (C)30 (D) 35
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86. Wﬁ%ﬁﬂe{%ﬂﬁﬁmﬁ How many Union Territories are there in India ?
(A7 (B) 8 ©)9 (D) 10

87. T 3ITth Gf-Ict foher Xroar T R 82 Statue of unity is situated in which state ?
(A) IISR1d Gujrat (B) XTSTRYT Rajsthan
(C) SR UG Uttar Pradesh (D) USTTS Punjab

88. &IFR'@T[ Hfgan feaw o fo= v s %‘? On which day 'International Women's Day' is

celebrated?
(A)8 AT March (B) 8 TRa]] February
(C)8 EEEH| January (D) 8 3T August

89. Wﬁ &ﬁﬁwmmﬁ@?ﬂ% ? Where does most of the processing take place in a

computer?

(A) FiGREIS Motherboard  (B) HHRT Memory (C) CPU (D) RAM

90. it BT TR fhd FHed § 2 Who is called the magician of hockey?
(A) faSTT $UR Vijay Kumar (B) THRT ST Samresh Jung
(C) ISR &< Major Dhyan Chand (D) 398 T &5 Fal none of these

91. YRd & gddM ¥ HaAl B %? Who is the Railway Minister of India?
(A) tﬂ'q;ﬁ[ ad Piyush Goyal (B) <] dlad Lalu Yadav
(C) S{fAt 3G Ashwini Vaishnav (D) 31f¥rd =ATE Amit Shah

92. QT@H &gl fadd) aﬁqﬁa—c{qﬁrw c21felt 82 What does the white stripe of the national flag

tricolor indicate?

(A) f 3R I Evolution and Truth (B) Uy 3R fam Courage and Growth
(C) Tifa 3R =TS Peace and Truth (D) 319 Others
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93. "R W@ (Richter Scale) mmﬁmm% ? The Richter Scale is used to measure

what?
(A) YHT 1 dIedT the intensity of the earthquake
(B) 91 1 TIfdT ) the speed of the wind

(C) UHx CH| *IGQI:‘;r the depth of the sea
(D) YRR BT dMd the temperature of the body

94. &HT@H Holgl f&aT F& AT ST § 2 When is International Labor Day celebrated?
A1 TRAR]! &l on Lst February B)1 AT &1 on 1st March
©)1 30T &Y on st April (D)1 TS Pl on 1st May

95. WHWWW@%WW@W% ? What is the minimum age to be a candidate of Lok
Sabha?
(A) 25 (B) 30 (C)35 (D) 18

96. RIS AR STHRIG IIBHR § Tg fdaa 8T UT 2 Who said that Swaraj is my birth right?
(A) Y&ITY BTHR Ravindra Nath Thakur ~ (B) T fddidb Lokmanya Tilak
(C) ol <IisTUd MY Lala Lajpat Rai (D) HeldHT et Mahatma Gandhi

97. q%aﬁw d fora HETITR & ? How many oceans are there on Earth?
(A)6 (B) 9 (€5 (D) 4

98. AKAM ] q:Uqu HIT g 2 What is the full form of AKAM?
(A) TSI hT DhTH TSl | Today's work today

(B) IS SHHd Teld Azadi Ka Amrit Mahotsav

© 3Tl BT HEIT the great sacrifice of freedom

(D) P13 &} none
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99. E[%ﬁ T T HIdR aTa1 HFT 1S fheesT &1 81T § 2 What is the core of the Earth's innermost

part made of?

(A) areT 3R ST Copper and Zinc (B) A% a 3R dfaT Nickel and Copper

© IR 3R ST iron and zinc (D) qAlg] 3R f4%5e Iron and Nickel

100. q%aﬁ R & 3R TIF[E?I?[% ? Are there day and night on earth?
(A) e TIfd & HRUT Because of daily motion

(B) MY 7T & HRUT due to annual motion

©) THTE! T & HRIT due to half-way speed

(D) faHTe i & HRUT Because of quarter motion

*********************************End********************************************
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